Piecewise Functions
Worksheet #1

Evaluate:

3—x, x<£1
1. f(x)=
2x, x>1

f(O)=
()=
£(2.5)=

1

2. <0
3. f(x)=1x *

—3x, x=0

f(—1)=
f=___
f(my=___

1, x<5
B. f(x)=
0, x5

()=
£(6)=
£(5) =

Name

f(x)= —x+%, 1<x<3

x+ 3, x>3

f(.5)=

f(l)=
fG)=____
f(H=___
x2, x< 0

f(o=14x>, 0<sx=<1

2x—1, x>1

f(=1)=
£f()=
f)y=__
£(2.5)=

Sketch each function below without using a graphing calculator. Find the domain and range of
each function. Remember , all functions must pass the vertical line test.

x—3, xx1
7. f(x)=
2x, x>1
Df =
Ry =
fO)=______

f()=
f()=__
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